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(k�"�
"���o)*9:
P11, " 6 Æ$� { �� ∏n

i=1 F (xi, yn)�� ∏n
i=1 F (xi, yi)

P19, " 7 Æ$� { �� SXY = 1
n

n
∑

i=1

(Xi − X)(Yi − X)�� SXY = 1
n

n
∑

i=1

(Xi − X)(Yi − Y )*+:
P31, 1h (2.3.10) $� { �� fij(x) =�� fij(x, y) =

P36, -10 Æ$� { �� D(Y ) = 2n + δ2,�� D(Y ) = 2n + 4δ2,

P40, " 4, -11, -12 Æ$� { �� E(Xr), E(X), D(X)�� E(Zr), E(Z), D(Z)

P46, -1 Æ$� { �� f(x; a, b) =�� f(x; γ, λ) =

P53, -6 Æ$� { �� T (x) =
∑n

i=1 Xi ∼ G(n, θ),�� T (x) =
∑n

i=1 Xi ∼ Γ(n, θ),

P57, -5 Æ� -1 Æ$� { �� T (X) = (T1(X), · · · , Tn(X))�� T (X) = (T1(X), · · · , Tk(X))

P63, " 5 Æ$� { �� Basa #J�� Basu #J
P64, -10 Æ (�u 4) $� { �� X =

n
∑

i=1

Xi�� X = 1
n

n
∑

i=1

Xi

P65," 2Æ (�u 7)$�{ �� ξ =

n
P

i=1

(Xi−Z)2

σ2

i�� ξ =
n
∑

i=1

(Xi−Z)2

σ2

i

" 10Æ$�{ �� = 1
n! [F (b) − F (a)]�� = 1
n! [F (b) − F (a)]n

P65, -10 Æ (�u 10) $� { �� χ2(4)�� χ2
4
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P66, -6 Æ (�u 23) $� { �� 2λ  )$� χ2 *��� √
2λ  )$� χ2 *�

P67," 4Æ$�{ �� n−i+1
σ (X(i) − X(i−1))�� 2(n−i+1)

σ (X(i) − X(i−1))
-5Æ$�{ �� (X − Y )

/

√

S2

X

n +
S2

Y

n�� (X − Y )
/

√

S2

X

n +
S2

Y

m

P67, -3 Æ (�u 37) $� { �� ?�s*��Poisson*��'�*�5!n*�
��� ?,'�*�5!n*�
�
P68, " 14 Æ (�u 45) $� { �� U(θ − 1

2 , θ + 1
2 )�� U(− θ

2 , θ
2 )

P69, -3Æ5 -2Æ$ (�u 52)$�{ �� R'x> f(x1 + c, · · · , xn + c) = f(x1, · · · , xn),�� R'x> f(x1 + c, · · · , xn + c) = f(x1, · · · , xn) + c,*3:
P78, " 9 Æ (K 3.2.7) $� { �� �3�n5 ρ  F29�� �3�n ρ  F29
P90, " 12 Æ (K 3.3.6) $� { �� 8�q^29 θ̂∗ = X(n) j�� 8�q^29 θ̂∗ j
P94, -5�-4Æ$�{ �� �SK 3.3.4 0� µ 5�� �S µ 5 -3Æ$�{ �� ���K 3.3.4 � µ�� ��� σ2 � f µ

P95, " 8 Æ$� { �� �K 3.3.4 I σ2  MLE j σ̂2 = S2
n�� � µ � f�I σ2  MLE j σ̂2 = 1

n

n
∑

i=1

(Xi − µ)2

P101, -1 Æ$� { �� �/~U29�ZR'Dθ(ĝ(T (X))) < ∞, &�Y θ ∈ Θ,��� �/~U29� �
P109, -6 Æ$� { �� `��� S2

a = 1
n−1

∑n
i=1(Xi − a)2�� `��� S2

a = 1
n

∑n
i=1(Xi − a)2

P112, " 5 Æ$� { �� Xr
h �n$���X UMVUE.�� Xr
h �n$����� C-R �C ~U29.

P113, " 7 Æ$� { �� � Covθ(θ̂) : θ  	(���� � Covθ(θ̂) : θ̂  	(��
P114, -2 Æ$� { �� e ĝ { g(θ)  �/ CAN 29�� e ĝ { g(θ) = θ  �/ CAN 29
P119, " 7 Æ (�u 23) $� { �� N

(

α,
[

E
(

∂ log g(x,α)
∂α

)2]−1)�� N
(

0,
[

E
(

∂ log g(x,α)
∂α

)2]−1)
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P119, -1 Æ (�u 32) $� { �� ∼ N(a, 2σ2), [ a 5�� ∼ N(a, 2σ2), ZM(��%L�[ a 5
P121, " 4 Æ (�u 42) $� { �� (1) [ σ2  ~U29(� C-R ��;�� (1) [ σ2  ~U29(� C-R �C;*5:
P139, " 11 Æ$� { �� �K 3.3.5 I �� �K 3.3.6 I 
P149, -10 Æ$� { �� Si = si, i = 1, 2�� S∗

i = s∗i , i = 1, 2
-6 Æ$� { �� 0 < θ < π/2�� 0 < ϕ < π/2

P154, " 1-2 Æ$� { �� B� λ(n, β, γ) = −tn−1, δ(1 − γ)/
√

n = tn−1, δ(γ)/
√

n�� B� λ(n, β, γ) = −tn−1, δ(1 − γ)/
√

n

P155, -11 Æ� -16 Æ$� { �� gnij�� gij

P158, -2 Æ (�u 11) $� { �� &v N(µ, 16)  ���� &v N(µ, σ2)  ��
P160, " 11 Æ (�u 21) $� { �� "�pWDq{ 1 − α  "�\<�� "�pWDq{ 0.95  "�\<
P160, -15 5 -16 Æ (�u 23) $� { �� ti�O T1 = X(n), T2 = X(1),�� ti�O T1 = X(m), T2 = Y(n),

P161, -13 Æ (�u 31) $� { �� 
a c/X�� 
a cX*7:
P176, " 13 Æ$� { �� √

σ2
1/m + σ2

2/n�� σ2
1/m + σ2

2/n

P184, -2 Æ (K 5.2.7) $� { �� S2
1 = 54.80 z /mm3, S2

2 = 39.20 z /mm3�� S1 = 54.80 z /mm3, S2 = 39.20 z /mm3

P187, -10 Æ� -14 Æ$�? X − Y .{ Y − X.

P189, " 7 Æ$� { �� Pθ

(√
n(X−µ0)

S 6 tn−1(α)
∣

∣

∣
H0

)

= 1 − α�� Pθ

(√
n(X−µ0)

S 6 tn−1(α)
∣

∣

∣
µ = µ0

)

= 1 − α

P189, -10 Æ$ (K 5.3.2) $� { �� e X1, . . . , Xn 5 Y1, . . . , Yn�� e X1, . . . , Xm 5 Y1, . . . , Yn
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P193, -5 Æ$� { �� 	Æ 5.3.1 "'Æ$1h�� 	Æ 5.3.1 "
Æ$1h
P198, -6 Æ ϕ(x)  Æ�h$� { �� c, T (x) < c�� 0, T (x) < c

P208, -2 Æ$� { �� q^�=�j Neymen�� q^�=�j Neyman

P212, " 2 Æ$� { �� LΘ0
(x) = sup

θ∈Θ0

(2πσ)−n exp�� LΘ0
(x) = sup

θ∈Θ0

(2πσ2)−n/2 exp

P212, " 3 Æ$� { �� = sup
θ∈Θ0

(2πσ)−n exp�� = sup
θ∈Θ0

(2πσ2)−n/2 exp

P214, " 5 Æ$� { �� λ(X) ≤ c} =�� g(ξ) ≤ c} =

P220, " 4 Æ$� { �� � ln ≤ A fAm H, ln ≥ B fGH H,�� � ln ≤ A fAm H0, ln ≥ B fGH H0,

P226, -6Æ (�u 1)$�{ �� X = (X1, · · · , Xn)�� X = (X1, · · · , X20)
-1Æ$�{ �� [�=�pW{ α 5�� [=� pW α 5

P227, -10 Æ (�u 5) $� { �� eX1, · · · , Xn {℄% Poisson *��� eX1, · · · , X10 {℄% Poisson *�
P228, ��u 12 5�u 14 T�*�w;� (α = 0.05) �*0:
P246, -18 Æ$� { �� &�� m�n �E#�Æ�� &�� m�n (n ≤ m) �E#�Æ
P258, -4 Æ (Æ 6.4.1) $� { �� [240, 250)�� [240,∞)

P263, " 5 Æ$� { �� l�&| �n[X MLE. q^4n{�� l�&| �n[X MLE. b H0 �L�q^4n{
P264, -10 Æ$� { �� :PX$ j !VQ� nij /�� :PX$ j !V� nij /
P265, -12 Æ$� { �� K = Kn =

∑r
i=1

∑s
j=1

(nij−nn·
p0

j )2

ni·p0

j

,�� K = Kn =
∑r

i=1

∑s
j=1

(nij−ni·p
0

j )2

ni·p0

j

,
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P266, " 10 Æ$� { �� � nni·
→ ∞ (i = 1, 2, · · · , r) f��� � ni· → ∞ (i = 1, 2, · · · , r) f�

P270, " 3 Æ (Æ 6.6.1) $� { �� 1 0.034 0.034 0 0.1 0.034�� 1 0.034 0.034 0 0.1 0.066

P274, -9 Æ$� { �� � Y ≤ Y1−α/2 7 Y ≥ Yα/2 f�� � Y ≤ Yα/2 7 Y ≥ Y1−α/2 f
P274, -8 Æ$� { �� *�j Y  d� α/2 5 1 − α/2 *}n�� *�j Y  α/2 5 1 − α/2 *}n*2:
P292, " 3 Æ (K 7.2.11) $� { �� E

x|θ
{

− ∂2l(θ|x)
∂µ∂θ

}�� E
x|θ

{

− ∂2l(θ|x)
∂µ∂σ

}

P296, -8 Æ (K 7.2.11) $� { �� Gamma *� Γ(a, b)�� Gamma *� Γ(b, a)

P297, -8 Æ$� { �� Gamma *� Γ(λ, r),�� Gamma *� Γ(r, λ),

P297, -2 Æ$� { �� N(θ, σ2)�� N(µ, σ2)

P298, " 2 Æ$ { �� (

1√
2πσ

)n�� (

1√
2πσ

)n

P307, " 16 Æ$� { �� f(θ|x) =�� f(x|θ) =

P324, " 4 Æ$� { �� f(X1 + c, · · · , Xn + c) = f(X1, · · · , Xn) + c, &_6gn c�� f(X1 + c, · · · , Xn + c) = f(X1, · · · , Xn), &_6gn c

P324, " 13 Æ$� { �� r�j a  }"y
29��� � δ0 R'� δ0(X1 + c, · · · , Xn + c) = δ0(X1, · · · , Xn).

P325, " 1 Æ$� { �� R(δ1, θ0) ≤ R(δ, θ0);�� R(δ1, θ0) < R(δ, θ0);

P326, -5 Æ$� { �� Bayes +�{�n�� +�4n{�n
P328, -4 Æ$ (�u 10) $� { �� P (X = x) = θ(1 − θ)x, x = 0, 1, · · · ,�� P (X = x) = θ(1 − θ)x−1, x = 1, 2, · · · ,



6,1
P348, -Æ 12 $�?" 1 N$ � m �.{� n ��?" 1 Æ$ � n �.{� m ��
P354, " 8 Æ (-Æ 17) $�?� 2.54 �.{� -2.54 �


